
 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2
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12000

14000

 / ndf 2χ  26.41 / 9

Constant  6.798e+01± 1.462e+04 

Mean      0.000528±0.002451 − 

Sigma     0.0006± 0.1291 

=143, p=[1.0,12.0]σ

 KinFit MC+π

 KinFit Data+π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2
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12000

14000

 / ndf 2χ  20.96 / 9

Constant  6.782e+01± 1.457e+04 

Mean      0.000531±0.002197 − 

Sigma     0.0006± 0.1296 

=143, p=[1.0,12.0]σ

 KinFit MC-π

 KinFit Data-π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

0

2000

4000

6000

8000

10000

12000

14000

 / ndf 2χ  47.57 / 9

Constant  1.208e+02± 1.422e+04 

Mean      0.000962± 0.003083 

Sigma     0.0010± 0.1299 

 / ndf 2χ  47.57 / 9

Constant  1.208e+02± 1.422e+04 

Mean      0.000962± 0.003083 

Sigma     0.0010± 0.1299 

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

0

2000

4000

6000

8000

10000

12000

14000

 / ndf 2χ  22.05 / 9

Constant  1.233e+02± 1.468e+04 

Mean      0.000951± 0.005723 

Sigma     0.0010± 0.1291 

 / ndf 2χ  22.05 / 9

Constant  1.233e+02± 1.468e+04 

Mean      0.000951± 0.005723 

Sigma     0.0010± 0.1291 
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